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30197321 4wphy PCUR hwn 400 3 1600
30197234)@nLnp A4 $npdwwnh 21* 2.9 FCUX inncth 2550 10§ 25500
30194320j9swqpwlwl pnLnpe FCUX hwin 150 6 900
30197231j@npwwwliwly /wynhdbwjhl/ $wj PCUR wincth 1000 1 1000
30197232} @npwuwwlwl wpwqwljwp /pnRjw/ PCUX hwwn 60 30' 1800
30192121}Sunhlwynp gphy ul-Juynejn-Juwpdhp/ FCUX hwuwn 100 23' 2300
30192100)NnbLwnphl FCUI hunn 150 4 600
22811170j@nLnp UznLdubph hwdwp/Yw;ncl/ PCUX wnincth 300 5 1500
39263200§pwubljwlwihu ghpp FCUX hwuwn 450 2 900
24911300{Unuhld pnph unwpwpnph PCUX hwwn 350 3 1050
39263420)Udpwy JEwnwnjw thnpp FCUR inncth 100 4 400
30192137)Uwwnhwn gpw$hink Thenilny FCUX hwuwn 100 4 400
30197112f4wph; h JEwnwnwwnpbp Jhehu FCUX wincth 100 4 400
30192114} Rwlwp 2nnwdwh FCUX hwin 250 1 250
30192760jUnh; unynpwlwl PCUX hwun 150 2 300
30197121junqwd Lpljwpjw FCUX wnntth 150 3 450
22811100f twuwdwwnjwllbp FCU hwun 500 12 6000
30192160j&wnphlulitp FCUR hwuwn 250 4 1000
30197331 hwulhs pwlnlny PCUR hwun 800 2 1600
30199232§'6pwn A 4 pnph hwdwp PCUR hwn 60 10f 600
39292510f2wlnl wjwuwnhly FCUX huwn 150 3 450
30197122 unqwy wwundwuk qliupyny FCUX wincth 350 2 700
30192720)95wlhs /Jwplybkn/ FCUX hwuwn 150 2 300
33761000§@nLnp qnLgwpwlh nnrpnluny FCUX hwn 100) 68 6800
31531210} Eynpwlwl jwdy 100 Juwin FCUR hwun 100 40 4000
31531220fE Ehnpwlwl pwdy 150 Jun FCU hwwn 200 30 6000
39835000§3wunwly JwppkpnL &nn FCUX hwn 550 2 1100
39812600fUwppnn dwénLlubp b thnzh /nwfuzw/ PLCUR hwwn 450 6 2700




39831240jUwppnn UynLpbp /dwyby/ FCUX hwwn 150 10I 1500
39831245)3aknph hEnnLl ofwn FCUX hwun 450 3[ 1350
39831270JUwnLlg PCUR hwuwn 400 3| 1200
39831280JUwwlh Jwppnn hEnncy PCUR hwun 500 3] 1500
36831247 Uwppnn Unip funnnywlubph hwywfugwlhs /Ynnn/ PCUR hwwn 600 2 1200
18421130§aknlung FCUR hwuwn 350 104 3500
39224332)nL)) Eplywpk |FCUR hwuwn 1500 2 3000
39224341jUnpwpyn wwuwnndwuhg PCUR hwn 900 2 1800
39831240] Uwppdwl WnLpbp/nndGumnnu/ FCUR hwn 1050 1 1050
39839300fSnquphwl FCUR hwun 450 2 900
39525100§®n2nL hwjwpdwl Yuwnplbp FCUR hwuwn 500 2 1000
39831283 Rwunwl JwppbinL (wpR FCUX hwuwn 700 12 8400
39836000jU L FCUR hwn 1000 12 12000
39522250®nznL hwywpdwl Ywinp FCUX hwin 100 10§ 1000
33141112jUytnwuh N210 FCUR wncth 50 62 3100
33141134]Mppwlww 7*¥14 /unbphy/ PCUR wincth 100 4 400
33631170§SEwnpwghlhb 100dqgN210 FCUR wincth 100 3 300
33141115)Fwdpwl  50qnp FCUR wncth 120 8 960
33661122 Mwpwgbinwdng FCUX wincth 60 10‘ 600
33661721jULw|qghl 500U| PCUR winLth 70 10] 700
22246000|9Lnn Erhy/uwynpun wuqqujwglnn uthpky/ PCUR $1 3200 10| 32000
33662170fUuln$bl PCUR wincth 160] 10} 1600
33693000jhunnUEwnwghl PCUI winith 350| 1 350
37451416|qUnwyubkp pwulbwnpnih FCUI hwwn 5000 10 50000
44521120 |nnwl thwlwl FCUX hwun 2800 4 11200
44411100 Jwgwpwlh dnpwy FCU3 hwwn 2500 3 7500
44111414|jwwnbkpuwltpy FCUX thwp 8500 2 17000
44921500|s6thwdwshy IFCUR wwnpy 3500 2 7000
44192700|ubplwgpulul PCUR hwwn 2300 3 2300
44811300 jnLnwlitpy FCUR 1T 2500 2 5000
44423400|gnLgwliwl uu hwn 20000 i 20000
44221100 |wwwinLhwl uu hwwn 25000 2 50000
31531300 wlwnbkunn wdwkp Uu hwuwn 5000 10 50000
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